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Nole:

.- (ii) Att questions carry equal weightage.
7

l. fuisnrrer arry four of the following in about 150 words
each : _

{a) Dscuss tlie importance of economic dwelopment in \
the life of the people and explain various modets of
economic development.

(b) Describe any three' factors which affect social chang e
in the Indian context.

(c) Dscuss the importance of 'Civil Disobedience
Movement' in the freedom struggle of India.
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(d) Describe the main achievements of United Nations.

(e) What is the importance of marriage as a social

institution ?

(f) What is meant by Swadeshi Movement ? Why was this

movement first launched in Bengal ?

2. Answer any four questions :

(a) Multiply '

( u 2  +  b 2  + 1 2 - a b - b c - c a )  ( a + b + c )

(b) Factorise :

* 2  +  x - 4 2

(c) Solve the following equation and verify the solution :

2 x + 5

?  
=  3x -10

(d) The ages of X, Y, Z together total 185 years. Y is

twice as old as X and Z is !7 years older than X. Find

the age of X, Y and Z.

(e) The length of a rectangle is 6 m less than three times

its breadth. Find the length and breadth of the

rectangle if its perimeter is L48 m.

(0 In a triangle the ratio be1ntteen angles is 2 : 3 : 4. Find

the angles.

!

1
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(g) The diameters AB and CD of a circle intersect at O.
lf I.AOD = 40o, find ZOAD and ./.ODA.

3- .Anstuer any four of the following in about 150 words
each

(i) Define energy. Give one situation for each of the
following energy changes :

(a) heat to electrical
t

(bl light to chemical

(c) nuclear to electrical

(d) magnetic to mechanical

(e) heat to mechanical
, 1

" r(iil If you are given a mixture of sulphur, sugar and iron
' filings, give a scheme of separating all the

constituents.
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(iii) Explain the procedure for the preparation of coloured

. glass.

(M What are the uses of different types of plastics ?

(v) Differentiate between conventional and

non-conventional sources of energy. Illustrate with the

help of examples.

(vi) . Define a Lever. Describe three types of lever with the

help of examples.

4. Answer any lour of the following in about 150 words

each :

(i) Define a seed. Name various categories of seeds.

(ii) Discuss the need and importance of protecting the

crops. Name some insecticides which are generally

used for the protection of croPs.

(ii| Why is irrigation essential for a good crop growth ? ,'

(iv) What is the cause of day and night on earth ? What

are the consequences of alteration of days and

nights ?

(v) Describe the occurrence o{ a lunar eclipse. Explain

factors responsible for it.

(vi) Discuss the harmful effects of pollution. What

measures would you suggest to control rrarious types

of pollution ?
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TIEfir€ @ \F snauq { slTtqt-sir
r  h  t r  t r(Hf.g[.HT.;

€l.fr.t'. tu,f qil-q5d 2

wtil trfrqT :

E{, 2OO7

$.qg.-Ztg,m t qlsm

g W : 3 q * t atftiqdq vrfrar : 7ot%

q}a :

fil , g?fi ??*'wq qM t t
,.
(iil sd' trfl fr slTftdr firql? d t

t. ffi q * ff a,Tqg{ qt rH+s qFT f,rFrrl
1 5 0 Y r d f q a :
(q) dc *qr ii $nfu t rrf,iq frt q@r

ttst srrfts f*'rs t Ffte
qrsr +trsrq I 

r
' .
- \

(€) ITrfiq dE{ fr rlrqrFrs qnnt{ * ${rf{fr q{t
qr& ffi frq Tdrdf Ht qutq ififqq t

(?t) tTfTd t TqdTf,T rl={rq fr ,qfr4q €nimr ' t
{fiq 6r fu{r eiTqq I
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(q) {Tm {q-€q *1 gs swrfudf sT E fq dfrq r
. (s) qrqrkd \iTEr + Fq fr trqrc s'r Hr rsq t ?

(q) rqkfr qiEhfi sr Frr sTd t ? q6 qrrtnq Ei'nd
q TdsEq +q] sTrrq gsTr ?

z . f f i f r t f f i a , T q ' r s f i t :

(s) w sltuq :
(uz + bz *.r2 - ab - bc - ca) (a + b + c)

(s) gqTgtrq st :

* 2  +  x - 4 2

(rr) ffi vfrfipr *) Fn st dsrr Fil $r
vFiltrT st :

2 x + 5  A

T  
=  3x -10

(q) EF, rer, rr s1 silg sT dg 185 q{ t | 'tq' st ;
s{rg 's' s1 s{rg t $it t dur r .+t Bilg rF
frt silg + L7 q{ sTnrs t I s, Er Hsrr r +1
3{rg qdrEq I

rgl F €lrzm sT Eqr{ t€s'r ffi s dt4 11 H
6 qler $'rT t r qR {ssr qf,{qrq 148 fi-cir A,
d) sTrqr +1 dqr{ sh qtgT$ Frr *'fi ?

(q) lfs q|q q +1,rrl * qszT srgqm 2: 3 : 4 t I
qnr{q frt't q}q ffi-ffi di I
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(B)

3. ffi rT {t lrF''€r 7'tT it't 3tR E I Fgs gtR

Errrwr 150 Trcif fr a :

, 0 iFqr q,r qRqrqr q 1 ffi uqi qRsdir q H
, rtrifi. $'r qs sEr{rur E :
,

!s) sEtr t ruq.
(€) ssRT IT {|srqFrs

(s) $lry t qitrs

(ii) qR silrrd fftr'r, fffi silr de t gnt is'r fraur
f{qr rrztr A, Fdi eTerrT-ei('rq s,'G di'FFT (rqfiq)
{trr{q I

cD qrs o fcg w qs {st

, fr zoAD dert zoDA
f r t ?
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(iii) r'fr{ yfiTrT qqr} s1 xfqfh q} {Trrflr{q I

(iv) EFrn *FT-{ t rf,rlgs t Fil-Fil sqq}r A qq.e
t ?

(v) u.qt + qrufr6 q i{-qriqfd etd} 6r qq r{E{ur
kil rqy 6t I

(vi) afrT{ +l qRqrtrd 6t r dqt t fr{ ffit fr)
sErd{q kil Hs st I

4. ffi fr t F*.rfi arr sr srn t l n+d sf,{
elrrrm 150 rTq} 6r A :

(i) dq et qRsn'w qfqq I EFr{ q..'il t 4df t
il-q qf,r{q I

(ii) .Fsdi H) Ti{Rnd {s} fr1 srr?Fqtn,cr nerT Ti€
q1 f{nqqT st I Br Ss t arq qnr{q
fuffiT scrqlrr qrrTrem: q.qffil + Tfunrr + fw
f *q rqmTt  |  ;

(iii) rntrm qfr qd gfq t fdq Rrqr{ qdf sffirg{ffi 
*

t ?
(iv) yeaT q{ Rr $ilT {rcr qr} sT EZTT ql-{ur frdr t ?

ffi s+{ {kT * qqmA {6f + Frr qrm t ?
(v) qq T6ur il q'rf=T +1rqq r vs* rw rdcqTql

6rcii qi qrcil si l
(vi) rgq t ETFffiRfi HqT{i q1 trt-qqT qt r RFra

jf.FR + lr(+fr 61 tmrrq + fu sTrrr FTI-FTT
Bqnl gilrq(t ?
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